PRE-ALGEBRA

SECTION 11.2B

NOTES
I.  Proving a triangle is a right triangle.


- If a triangle is a right triangle, then 
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 will be a true statement

Would triangles with the following measurements be right triangles?  Justify your answer.

HINT:  Justify your answer means to prove your answer.  In other words, show your work!!!!

A. 
 12, 15, 20


Since the hypotenuse (c) is the longest side of a right triangle, then 20 is the c 


term for this triangle.
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Since this was not a true statement, this is NOT a right triangle

B.
7, 8, 
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 is between 10 and 11.  This is the longest side.
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This is a right triangle.

C.  
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Not a right triangle.

II.  Using Correct Units

When using 
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 , all three measurements must be in the same unit of measure.
A.  Find the missing side length.
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HINT:  It is usually the best to convert all units to the smallest unit of measure.  In this case, convert the 5 feet to inches.
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B.  Converting the answer.

A carpenter is building a roof with a rise of 5 feet and a span of 16 feet.  To the nearest inch, how long will the rafters need to be?

Three steps to do this problem:

1.  Draw a picture.

2.  Solve for the missing length.

3.  Convert the answer to the proper unit, if needed.

1.  Draw a picture.
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2.  Solve for the missing length.

Since 16 feet is the measurement all the way across the bottom of this triangle, we will only need to use ½ of it, or 8 feet to find the length of the rafter.
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Since both measurements given (5 and 8) are in feet, we will need to convert this answer to inches.

3.  Convert the answer to the proper unit.
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To the nearest inch, the rafters will need to be 113 inches.
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